L£HES259 CRILT(S5LA

BHEFMETCORBHEEERMUNANCOIEHIREANEHE/FRABMNAEREZ] ($T2EE)
(E+nl& x 10", I Z [EXE+31% X 1000DEH(TY . )

B BHE/FERE (ke/5E)
FR\MEFRE| BOILIT | ABES | 5, | ## | ey | REAL &%
- sxm | o | 2N | ez | BR | pgem | TOR | S8
1 [dbiEE 2.6E+0 26
2 |BHE 5.7E-1 0.6
3 |AFR 1.3E+0 1.3
4 |EHER 2.1E+0 2.1
5 |RMEE 1.0E+0 1.0
6 |ILZE 1.5E+0 15
7 |EEBE 4.4E+0 4.4
8 |ZimE 8.5E+0 85
9 |IHAKRE 7.0E+0 7.0
10 |BERE 5.3E+0 5.3
11 [BEE 2.7E+1 26.6
12 [FER 1.1E+1 10.8
13 |EE=E 3.9E+1 3838
14 (IR 8.5E+0 85
15 |FiRE 2.1E+0 2.1
16 |= IR 1.4E+0 14
17 |BINE 2.0E+0 2.0
18 |f@HE 9.7E-1 1.0
19 [LLBLE 1.7E+0 1.7
20 [EHER 2.6E+0 26
21 (B R 9.6E+0 9.6
22 |FRRER 1.1E+1 10.7
23 |BEE 2.5E+1 25.1
24 |ZER 6.4E+0 6.4
25 |iHBER 1.7E+0 1.7
26 |FERRF 1.5E+0 15
27 | XBAF 3.7E+1 36.8
28 | EER 3.0E+1 30.2
29 |=RER 5.8E+0 58
30 [fOFRILE 1.3E+0 1.3
31 [BERE 6.3E-1 0.6
32 |[BIRE 8.0E-1 038
33 |MWLE 5.7E+0 5.7
34 |ILER 5.8E+0 5.8
35 [lLOg 2.1E+0 2.1
36 [EBR 1.2E+0 1.2
37 |BNIE 1.1E+0 1.1
38 |EER 1.1E+0 1.1
39 |E&E 5.7E-2 0.1
40 [1ERR 5.6E+0 5.6
M |[EBR 1.1E+0 1.1
42 |RIFE 4.0E-1 0.4
43 |REARIR 1.1E+0 1.1
4 |KHER 1.3E+0 1.3
45 |=iIFE 8.0E-1 0.8
46 ([ERER 4.0E-1 0.4
47 | R 4.0E-1 0.4
£ [E 2.9E+2 288.3
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